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Basic and Strength Properties of aggregates from Various locations in sud-Korea
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Abstract
When using non KS aggregate muck pile in general, compared to when using KS aggregate, when obtaining an
identical slump a high unit quantity of water was confirmed, and when designing the concrete mix the compressive
strength of concrete decreased due to an increase in W/B, Therefore because the use of non KS aggregate decreases the
liquidity, strength and durability etc, qualities of concrete from an overall performance point of view, there is a need for
the used of KS aggregate and when using aggregate that does not adhere to KS standards, it is determined there is ¢
need for appropriate concrete mix design and care,
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